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| Lowest formof 75:95 is ' L uTfTs 95D
17:15 (D) 19:15 (©) 15:19 (B)  15:17/
Zakat is dedusted ot the rats of ¢ e lre L AUVAI I | @
| "25% @ 45%(© 35%® 5% (W
Mssisﬁzerewhen : f q_uuw (3)

SP<CP wodijud <4,7J(c) SP>CP ..s,/..)‘ > 4/ad(B) SP=CP =i /ed = 4ied (W)
SP=MP =)&d =adtuges (D)

The return camed by the bank on loan is nami s &t J‘Hﬁb&?m“;’,‘f) @.
hofit Ot (D) Boms ¢ (€)  Premium (¢ (B) Markup Sk (A)
The tax charged on all the taxable income is called %wm,;éﬂuf‘}rrwufu )

Bxcise duty GIAS ) cometax €1 (Q) Directiax (Fietnis (B) Salestax EH(A)

V2 =1 VVvz=2 |®

24 (g 2@ 2 m W

8 of 3,7,11 e i | 8 3,711 | )
) 20 2@ 19 ® 30
The perpendicular distance of a point from X~axis is | P AY T csf-x¥iis | ®
| Ondinate 247 (D) Abscissa 2! (C) Origin 14> (B) Horisontal line d
'H=.x(n§)-.isc'alled_ & ‘ | U{H=—(—)' ()}
Arithmeticinean b-sigh> (D) Mean kest (C) \Mode vk (B) Hamonicmean &£y 4(A)
For y=2 in 2x=y—6, wehave x="? x=? i y=2 L2x=y-6 | (10
' _ ® ~0© 2® -2W
In 4°, 4iscalled -/ o s & £ | (D
' . Redidal sip (D) Integer .wg {©) Basd U (B) Exponent Vet (A)
G.M between -3 and -12 is ' Se bl polendl ~12.4 -3 | €12)
: +3 M 136 ( 9 @B 6 W
| Inaproportion a:b::c:d , 8 and d arccalled . S Note LA atbizerd | (13)
- Consoquent WSS (D) Antocedent w31 (C) Extremes ofH(B) Means o2 (A)
] mﬂhmjéofuwidowininhnﬁmﬁceﬁnm presghice of children) is .08 (Ldror S YL Busthe | (18)
| S o fo N iw
Forsnyiwo scts AmdB,AUB=BUA igcalled - ot AUB=BUA LOR 4A ydrs | (15)-
Commustative law -’ (D) Entersetion of sets /¥ (C) De-Morgan's law ¥ ¥/ (5 (B) Associstive law (ke (A)
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Q.NO.2 Write Six short answers to the following ‘ 2X6=12 Mupz,l’az:g;‘;m 24U
Expross 875 % aa factionin ts lowost form 873 % dRPLA N8|
Definsinverso propartion k|
Express this atio in simplest form i:_il : 1—:__1.32 gu’-‘%rff-—:’dl i
Caloulate the smount of Zakdveg 10 tola gold fits o isRs 40000 pertols sS04 40000 ISN S fANoglr i |
Define inheritance ‘ r;AA{‘. D | v
Find SP, whea CP = Rs 950, Profit = 10 % ‘ #10 % =g sngu 9so=4;éz,§£r#.=s.;¢,z vi
Definoloss. Write s percent foermals. \ 2 f W derIrz 63 | i
Define marked prico. How it is represented 7 \ rmg,é.{fw.ai.aﬂfc.luﬁw viii
Define Saving Account / , Zyflembe | x

Q.NO. 3 Write Six short answers to the following \ 2X6=12 e fepe P Linge L bitn 30

‘What sum would borrow in Rs 174 asmark up at 5% in4

.33.:,1] FrP de‘_.ul‘yé..f;t:.b)gr 5% L Lol igh

i

Define tax

Eafsf

u?k 16% LR ¢4 34800 =SS 2pd

uf}g(
A computer price is Rs 34800 inohusive of 16 % sales tax. What is the of the computer

5Va x 5V128 %/

Define Range

Simplify 5V4 X 5V128 iv
Write the base and exponcat in (x—2)° Fudit =28 | v
Write in tho decimal form 1.345 X107 / \ 1345 x10° LG e | v
Write first three torms if 8, =305 / \ a=dn-5 Jd L | vi
Find AM X+x+1, X'~x+1 Xx+1, L-x+1 ZePbag® | vii
Ifthe A.Mbetween a and 16 is 24 then find the value of ‘s’ ¥(J-'JJ P In 24 616 s N | ix
Q.NO. 4 Write Six short snswers to the following / 2X6=12 \ E f o2 B Linge flibn 4 Ay
Find ANC if A={1478) and C= {3457} Cc={as7) wA={1478} Sigeanc | i
If U={7,89,10,11,12,13,14} and B={7,s,11,1z}ﬂ,4m B ek B Ix B= 8111 AU={7891011,12,13,14) Ji | i
If X ={03,5} and Y = {24,8} mwﬂmwobm,émwminxxv :;!Hw”dXXY\i(Y={2A,8}»IX={O,S,S} A i
Reprosent the point D (6-3) on graph paper / \é’ﬁw“sdff D(6-3) 43 | iv
°p=( % x °C)+32 Sk F )ﬁs\"c iaZ Sl | v
Using formula convert 86 °C into°F if /F=( 2 X °C)+32

Draw the graph of y = 3x \ N y=3x| vi
Find geometric mean of 2,4 sud épﬁ’»}qgr 8 12,4 | vi
Forthe datasct 6,2,4,3,4,4,4,5 findthe modian Bl o 6,2,4,3,4,5,4, N\er Lot | vii
£ | i
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NOTE: Attompf any THREE quostions fjom this part gxi=24

AT v/ F 710 o 28 T R 18

. How many cows will eat 770 kg. of bay in 28 days at same rato

EPhrdleton i

b

- 5/J|}

(8

, > Z o o BN i
The shares of throo partners in a busincss are in Ratio 22
share of cach individnal in the loss incurred ?

LLongsn

AN

®)

b K st R SR L 16 %
If tho price of an air conditioner is Rs 40000. Then work cut the
price of an air conditioner with sales tax

2,38 X 3.901

Solve by the help of logarithm i

WHingw 40000 BSAN RGN
tax on it st the rate of 16 % . Also calculate the

2983901 o po (PR

4.83

W-14Jr

®)

5{)“:"5
The A.M between two mumbers is 5 and their positive G.M is 4. Find the numbers

K U={4,6,8,9,10}, A={4,6} apd B ={6,8,9} then prove that (AUBY =A°NB°

4 bl bR a5 b i mie

(AUBY = A'NB° 2ot JB={6,8,9) s W={4,6), U={4,6,8,9,101./0

W-8 i |

®

NEON y= m3ail

ZE e AN dank 2,3,6,8,11)‘:‘.
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The company undertaking the act of insurance is called Bt Y LTSI L PP | (D
Insurance policy (}‘-g&;f’ 1 (D) Insurance &1 (C)  Tnsured 41 (B) Tusurer ¥t (A)
Taxes of the form of duties motor vehicle taxes are called ' 2L SE2PEA Sareitss | @
Income tax u‘g i’ (D) Propertytax Jg A& (C) Indirect tax L,Ig 414} (B) Direct tax Jg R arel
The logarithm calculsted to the base “ 10 ™ is called s 2P L LS 26 | B
Netural number #0248 (D) Characteristic b (C)\ Common logarithm f K4 € (B) Mantissd L% (A)
For 2,6,11,17 e 85is fetfedd as £2,6011,17 . @
22 (D) 21 (© 30 ® 24 W
For any two sets Aand B, AUB =BUA iscalled q_t'lk( AUB =BUJ 4!.2.’.8 BA UFEs (5)
De~Morgan’s law /98 Vd(u‘df (C) Associktive lawitr =’ (B) Comfitative law. ok =< b{(A)
Complepfent oftwo sets ZH¥UA" (D)
The perpendicular distance of 2 point from X—axis is called | bW Aifsf o af -x Kiis”T | (6)
Ordinate 2247 (D) Abscissa L+ (C)\Origin +/4» (B) Horizontalline oFUPI(A)
' e b/ Pl s 2SI s | D
The summary statistics which measure the middle (center) of the data is called ,
Allofthese vy (D) Median 2oy (C}Y  Mode b (B) Mean bst (A)
H= ("i) is called | | o bl H= ﬁ ®
Arithmetic mean A-sil> (D) Mean bs/AC) Mode »4(B) Harmonicmean h-sify'4 (A)
AU (BUC) = (AUB) UC is called « 0l AU (BUD =(AUB).U C | (9)
De-Morgan's law (/96 b’dru’dﬁ (C) Kssociative lawp it (R ) Commutative law.Jslree?(A)
tersection of sets & B LA (D)
85 of 2,6,18, - is te &I a5 £2,6,18,—— | (10)
| 30 (D) 162 (cx 161 B 160 (A)
Ina",niscalled Sy "a” Lt (D)
R fase L1 (D) Exponent V=# (C) Radicand .A¥ (B) Radical si(A)
Lowest form of 75:95 is | P TE75:95 | (12)
17:15 (D) 19:15 (C) 15:19 ®) 15:17 W
3 interms of percentago i EPEAL | (13)
BI% @  B% © 1% G\ 3% W|
Zakat is deducted st a rate of Sl 2 UF 05 | (10)
55% ) 45% (©) 35% B) 25% W
Profit % = ? where SP > ¢F Inesijad > il figed Y | G5
T / el o el o e T w
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Q.NO.2 Write Six short snswers to the following IX6=12 2 faz L ge fdibn 240y
Express the fraction 9/20 as percentage . é‘,tgut,«-dfo/zo/ i
Expross the fraction = 17 toits lowsst fiorm FueLlud/ 2:2 oF ) i
What is meant by Extremes and Means ? ted el p | i

2 i s 600000 P Ssptruebisdis | iv
Calculate Ushr on a rice crop produced by naturel resources amounting tq Rs 600000
Caloulate Zakst on gold amounting Rs 1500000 v el 14l radi 1500000 | v
Find CP when SP = Rs 100, Profit = 33 % % - \ ehped=100 4w, U= 33% % ,/,G,érl-'uaf vi
Find SP when MP = Rs 2760, Discount = 5 % \ el =260 4, A =5% Medohresijed | i
What is meant by discount ? \ Se Ao | vii
What is meant by Current Account ? \ : / f el werS | i

Q:NO. 3 Write Six short answers to the following \ 2X6=12 g{,fa—yzﬂam;‘,‘x‘bw 34Uy
Coavert 50 Pounds to Pk. Rupocs (Rate of Poed uc/25, = Rs 120.4549) EbrLolelfimms | i
Define Exciso daty | / Lafflons | u

r.;_;,@fd‘u!)Wk 16 % U7 g-gmas 34800 =g | i
A computer priceis Rs 34800 inclusive of 16 % sales tax. Whatis tho original poe of the computer
Simplify  ¥/8a° /\ Vea® #&| w
Write in scicntific notation 0,051 / \ 0os1 Fedodv | v
If logx= 0.1597. Find the value ofx / \ b= d x In logx=0.1597 S| vi
‘Write the first three termsof a,=3n+ 5 / \ gfil‘f&‘d,a,=3n+s vii
Find AM between 25 and 6v5 7 \ Zobbsg®t 2V5 s 6V5 | viii-
Find G.M between 4 and 9 / \ et bnlplenl 9 4| ix

Q.NO. 4 Write Six short answers to the following / 2X6=12 é;)(..yz,’azq:.‘;‘.tsw AUy
Defin wmion ofsts \ il |
If A={2357,11} , B={13579} Find /An gEpd* ANB n B= {1,33&(,9} AA={23s5711} A | i
If U={1234,567} and A={345} /FindA° 2,€(PA° 71U={l,2,3,4\§,6,7} HA=(345} N | iii
Draw the graph of an equation x=—/{ &J‘fl’ x=-2 bl | iv
Represent the point B(3,2) on}légmph é/{lﬁ‘d’f%ﬂ) WL | v
White formuls to convert (°C) into Fahrenheit CF) Pr4 umrz_fwmmqu\m V¥ | v
Definofroquency /' EBA6S | i
Find median 6,2,9,/3,4,5,4,5 6,2,4,3,4,5,4,5 S+ s | vili
Findmode 4,6,7,4,8,9,7,10 4,6,7,4,8,9,7,10 Zebub | ix
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anymREBquesﬁonmomﬂ:is_pm 8X3 =24 . éfdfdnrcféfq):/m s

DaAK-C =22 /

"Ifutuyolemenfoﬂsdaylinnho:blcostRl.GnO.FindﬂleqostﬁrﬂwsuyoESmmbr14dnysinahos 1

122f14 | (A-54Uir

e 750000 Lo i1 | (B

‘Work out the share of each, if the inexi i i b alaoleﬁawidow,two
Lkmc‘l-)w:.lﬁf . 29 S IJ-..-:{IGIMJW‘}‘_{J W64y

3 u—“gJ,ﬁ'Ja,.u 850000 &-LAML e | (B
% 10% L)Ju( cﬂ-—l‘ényf.(‘?

20,0000 »f z‘.uls.oo,doo .,;;sw,-w‘.w_gm/,g (A)—7,.?Jlr

Thomdpdoeofhouumdpiceoﬂmdismlsm,ooo Rs 20,00 'vely.Findﬂ;epmputymoneachofm
two at tho rate of 16 % !
' 1 1 1 .
Provo that 3log4+ 2105~ 3 log 64 5 log 1§/=2 | slgpeiogs=g log 64- 3 log 16=2 et | B
Insect throe G.M,s between 1and 16 : & asd P30l s L1621 A-8AJir

I X={0,3,5} and Y={2,4 } thea establish any four binary relations n XX Y

Linltipt Ax Y 7 y={2,4,8). X={0,3,5} /1 | ®

'smchu:aﬁgmofﬂn ven points on the graph paper AGs,2) , B(-6,-3) , C(3}5) a.t‘fw.ﬂf&ﬁdsw W-94dr | -

mmmauofﬁeqnmum é{#‘wwﬁrwigbw ®)
x| 1 2 3\ 4
£]12(3 4\ 1]
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